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We derived it from ‘his ox’ — 3177A% 1IN

OVERVIEW

The X7n3 states that Wwn1 11°00 112X, which were placed in the 7"77 and caused
damage, the owner is liable, for we derive it from M, according to 217. Just as he is
liable for the damages of his 7w, which is his property, similarly he is liable for
any damage his property causes, including damages cause by 1n"0X. Our n15010 will
first explain what is meant by 71w and will then discuss how "0 can be derived
from 7w, despite the apparent differences between them.

mooIn explains that 13727 1Wwn -
- 125390 MW 1909 539 JUT 19 1990

Refers to 39p; for ®am1 12 are =D in the 2777, We are discussing here »"ox that were
placed in the 2"777; if they were a 77210 of 1" W they would be 1°7105.

mooIn responds to an anticipated difficulty: If we derive 17°pon X5w n"oR from 17p, it should
have the same 7°7 as 17p, which pays (initially) only a 11 °%r1. He should not pay more than a 1"n
(for the first three times) by 20X as well.2 mooin responds:

- >0 sHyaa NN PoN5 7oV XOT MTNT MMM 12 PUNY 1PN 13901 1HANI)Y

For by ®'" there can be no distinction between nmn and M7y, for this
distinction is only applicable by live animals.

nvoIn asks:
= PN INMII N HYA 19V VYD N1 YN 99) 2951 9INN ON)

And if you will say; how can we derive »n"10X from "%w? We know why a " is

2>11; because it is alive and its intention (by 17p) is to do damage. However »"1ox
are not alive and the idea of having intention to do damage is totally inapplicable; so how can we
derive n"oX from Mw?!

- Y487 11959 IV NN SHNT PNN 12 UNIMVY 19229 WH9)

And the 2"2w1 explained: we derive »"0X from 912 and " together through a
TN "N

! See “Thinking it over’ # 1.

2 See (R R"wamn. Alternately, it would seem that we found a case of 772 X¥1°2 K 37°m720. By 199 there is a 21n
1"n, and by n™oR, which is a 77710 of 17p, there is no 1"n. NMdOIN rejects this concept.

? See “Thinking it over’ # 2.

*1If you ask that " is a °n 92 and 1% N3, we will answer that v M2; for M2 is not a 1 ¥a and P12 a3 PR, If
we will say p112 1n»wy n?°nn 19w M2 o we will answer 17°51 W for prab n»wy n?°nn PR. The 7w ¥ is that it is 1977
T°HY 1w por; therefore we can also be »™0X 7271 which are 2% 1nnwn 1% 1997, See “Thinking it over” # 4.
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mMooIn anticipates a possible difficulty and forewarns it:
= 139509 1AN INND AN 9INPT NIYN T8N 1) 51}3?31

And later concerning the w7 7% of the 7wn, which %2R explains that it comes

to include ©'"IR which he placed on his roof and they fell and caused damage (afterward) -
= MY 191 9915 19IVN B9 9INT 29V IN DI NY

The text does not read; ‘if it is according to 29 who maintains that we derive

all types of damages, which have an owner, from =W, so 1"0X are 91%’; and there
is no need for the Mwn 7% of the 71wn, since we can derive n"ox directly from 7w, without a 7x
mwn.®

= NYWHDTH NN 181 119271 929V NN 2991

For according to 29 the Mwn 7 of the mwn as »2aX explained it, is proper; for we
indeed derive n"0X from a 7377 7% (from 7121 W) as we have just explained.

nvoIn asks:
- 7‘11:19 09511219095 9°5 9193 NNt 1’5 NYP YaN

However there is a difficulty with this explanation that we derive 2"0R from a ( 7%
mwn of) M1 MW; since we derive »n"OX from <12 as well (as 72), they should be

exempt from paying damaged for utensils just as 912 is exempt from 2°93 pr1. We

cannot say that this indeed is the case -
115 79aw3 %33 *B995 29 172 2509 (x,na 41 N3N Mpo

For later in m1%7 P19, 29 obligates payment for 2%, which were damaged (by

n"oR), in the case regarding where his pitcher broke. msoin does not answer this
10

question.
SUMMARY

n"oR are derived through a mws 7% from 179 and M2 (but it pays a "1 initially). It
is not understood why it is 2> for 072 >p1.

SR, A7,

% The X3 there challenges »ax, who maintains that 20X are derived from the mw: 7% of the 71wn. The Xn3 claims
that a mw: 7X is not necessary. Others were 07 that the X3 stated, ‘if the owner was not n"OR °pon, there is no
need for the MW 7¥ (according to 27) for we can derive it directly from 7w. N190IN negates this Xoa.

7 See “Thinking it over’ # 3.

¥ In fact it seems the reason 27 derives 17°p57 27 »"10X from MW is explicitly for the purpose that they should be 27
for o°75. See the 8210 there (on 2,12).

? The mawn there states that if a pitcher broke in the 1"77 and another person slipped on the water (or was damaged
by the shards), the owner of the pitcher is liable. 27 explains that he is liable if his clothes were ruined in the water,
etc. Clothes are 0°73, and nevertheless he is 211 on the 0°75 that were ruined by his 0, which is similar to X7 "0
17°po7. According to 27, this case of 172 772wl must be discussing a situation where 11°p277 X?; for if he was 7°pon the
water it is surely 713; and then he is certainly s for o°%2.

10 See also Jmav "7 2,7 MDOIN.
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THINKING IT OVER

1. Mo says that MW cannot be referring to 737 Jw; for then »"™oX should be Mwd
7"772."" Eventually moon will maintain that we derive n™ox through a 7w 7% of
7w and 2. Why cannot we say that M refers to 7"W and there is a 7"7772 210
since we derive it from 112 as well.'” (In addition; why does not 27 derive »"1oX
from 7" and they will be 1"772 Mo ?!)

2. mpoin states that the concept of M7y MnN is not applicable by n™ox."
Seemingly, we can apply the n17¥11 NN to the owner of n"0X. For the first three
times we deal leniently with him and he pays a 11 °¥m, and on the fourth time he
pays a 09w pr.'*

3. In a mwn 7% there (usually) are two 2>7%% (teachers) and one 17 (the derived
law). We cannot refute a mw: 7% by citing a difference (X7217) that only one 7297
has and the 7% does not, for we say that the other 7% is 21 (this is the whole
idea of a mwn 7¥). It would seemingly follow that we cannot impose the rules of
one of the 0>7%» on the 719, unless the rules apply to both o°72%2. Why does
moon ask,' that n"ox should be Mo for 093 (like 112)?! 1P is 21 for D% 1.
Why should we place the limitation of one T1%1 on the 7%?! Only the rules and
limitations of both 0°71%7 jointly should be placed on the 717; not those that apply

to only one Tan!'

4. According to mooin that we derive »"ox through a mw 7% from Mw and M2;"”
why does the X713 state 11727 129 0212; it should say; 1171% 12121 11Wwn 09127?!

' See footnote # 1.

12 See ywir "1 and 7"nX (footnote # 710.
13 See footnote # 3.

" See w'w.

15 See footnote # 7.

16 See " (footnote # 86).

17 See footnote # 4.
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